MATHEMATICS TEST PRE-REQUISITE SOLUTIONS- YEAR 9
Module 1 - Number
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(a) 0.00193(4....)
or 1.93(4...)x 10

(b) 7.63 x 1072
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(@) V25 or5

(b) 8 isw
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(a) 20376

Their (a) to nearest 100

(b) 20 400
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(a) 17383

(b) 2.87x10*

(¢) 6.5




13.

@ o9
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15.

5825 = d < 58.35
16.

‘ 1,1 ‘ SC1 for both correct values but reversed

14 16 14 7
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Working must be shown 2 5 an 5 6-8 oe
or visible cancelling
17.
@) 80 1 Condone either 78 for 80 or 22 for 20 but not
20-4x4 both.
(b) 20 1 SC1 for answer 13 if clearly from
78 + (22 -4 x4) or 78 + (22 - 16).
(¢) 14.0 2 B1 for 13.9(9.......... ) or 14 in working or in the
answer.
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(@ (1,2,)3,6,9,(18) 2 | Bl for 2 correct.
(b) 2,3 1
(¢) 54,72,90 1cao




